
*NOTE:  AIRLINE PROVIDED DEPENDS ON COVER 
CONFIGURATION

C

ITEM 
NO.

PART 
NUMBER DESCRIPTION Default/

QTY.
1 102495 CABLE TIE, HEAVY DUTY 2
2 102540 3/8 TUBE TEE DOT 1
3 103735 SCREW, CS 1/4-20 X 1/2 8
4 103743 1/4 NPT X 3/8 TUBE STRAIGHT 3
5 103881 1/4 TUBE X 3/8 TUBE Y 1
6 103883 1/4 NPT SOCKET PLUG 1
7 103886 NUGGET VALVE, AIR PILOT 1
8 103892 HOSE RETAINER AIR KNIFE 1
9 103894 AIR KNIFE TUBE 1
10 103970 1/4-20 X 1.75" HEX BOLT 2
11 103971 1/4-20 NUT 2
12 103976 GROMMET, 3/8" ID, 1/2" HOLE 2
13 103981 WASHER, LOCK 1/4" 2
14 104015 10-32 x 1/8 Tube Elbow 1
15 104017 1/8" Tubeline x 8" 1
16 104024 1/8 NPT X 1/8 TUBE STR. 1

REVISIONS

REV. DESCRIPTION DATE APPROVED

A CHANGED ASSEMBLY TO 
INCLUDE ALL PARTS 11/21/2013 CJL

B
CHANGED ASSEMBLY TO 

CONTAIN PARTS FOR AIRKNIFE 
CONVERSION

10/28/2015 CJL

C CHANGED 90 DEG FITTING TO 
STRAIGHT (PN 104024) 1/5/2017 CJL

AUTO AIR KNIFE 
CONVERSION

C
1 OF 2

4/15/10

4/15/10IS-CJL

IS-CJL

UNLESS OTHERWISE
SPECIFIED:

REVDWG.  NO.

A
SIZE

TITLE:

NAME DATE

MFG APPR.

DRAWN

FINISH

MATERIAL

DIMENSIONS IN INCHES
TOLERANCES:
      LINEAR           
         X.XX      .015
         X.XXX    .005
     ANGULAR  1

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF PIVOTAL
EDGE.  ANY REPRODUCTION IN PART OR AS 
A WHOLE WITHOUT THE WRITTEN PERMISSION 
OF PIVOTAL EDGE IS PROHIBITED.
103885

5 4 3 2 1
 LB
MASS SHEET

THIRD ANGLE PROJECTION

5 4 2 13

A

B

C

D

B

A

D

C

ENG APPR.

103885



9

3

15

1
2

10

13

11

416

12
74

4

6

5

14

8

AUTO AIR KNIFE 
CONVERSION

C
2 OF 2

4/15/10

4/15/10IS-CJL

IS-CJL

UNLESS OTHERWISE
SPECIFIED:

REVDWG.  NO.

A
SIZE

TITLE:

NAME DATE

MFG APPR.

DRAWN

FINISH

MATERIAL

DIMENSIONS IN INCHES
TOLERANCES:
      LINEAR           
         X.XX      .015
         X.XXX    .005
     ANGULAR  1

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF PIVOTAL
EDGE.  ANY REPRODUCTION IN PART OR AS 
A WHOLE WITHOUT THE WRITTEN PERMISSION 
OF PIVOTAL EDGE IS PROHIBITED.
103885

5 4 3 2 1
 LB
MASS SHEET

THIRD ANGLE PROJECTION

5 4 2 13

A

B

C

D

B

A

D

C

ENG APPR.

103885


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2


